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Questions

1. A clothes dryer has a power rating of 4356 W. It takes an average of 45 minutes to dry a load of clothes. If the dryer used 8820 kJ of energy during this time, how efficient is this dryer?
Calculations:

2. Reading for an hour followed by an hour of homework, a student decides to check the efficiency of the halogen desk lamp used. The lamp is rated at 20 W and used 20.88 kJ of energy, how efficient is it? 
Calculations:

3. In conducting a science inquiry into how efficient a kettle design is, a student discovers that in 264 seconds 26°C water increases in temperature by 70°C for kettle “a” and 65°C for kettle “b.” Each design is a 1500 W kettle.
a)  The energy transferred to 1 Kg of water in kettle “a” is 292 600 J.  What is its efficiency?
b) The energy transferred to 1kg of water in kettle “b” is 271 700 J. What is its efficiency?

4. a) Based on your answer to question 3, how much money does it cost to run each kettle for a 30-day month? Assume that the kettles operate 30 minutes daily, and that electricity costs 10¢ per kilowatt hour.
Calculations:
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